
 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.eu 
  www.rdmoto.eu 

 
 

1 

CF44 
Moto Guzzi V7 

 

Fitting kit: 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

ID Description Cat.N Qt 

1 Bolt M10x60 850 2 

2 Bolt M8x20 824 2 

3 Bolt M6x16 962 2 

4 Washer M6 947 2 

5 Washer M8 802 2 

6 Plastic cap X19 2 

7 RDmoto stickers - 2 

8 Cover plate X87 1 

1. Dismantle original 

bolts from chassi. 

2. Tighten bolt ID.1 

slightly 

3. After fix upper 

frames tighten all 

bolts and place 

plastic caps. 



 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.eu 
  www.rdmoto.eu 

 
 

2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

            

 

During assembly use medium strong adhesive glue. 

 

1. Connect upper crash bars. 

2. Tighten slightly M8 ID.2. Place washers 

under the bolts ID.5. 

3. Steel cover assembly on the crash bar.  Use 

bolts. Place washers ID.4. 

4. Now tighten all bolts. 


